For numerical output of this problem, refer to Vol. II of

this report filed in the Document Library of Ballistics

Research Laboratories.




D. List of Labels
DECIDE
DX(S) = Eulerian space interval in region S at t = 0
= L(S)/z6N(S)
H(S) = no. of cells from left boundary through region S

Sl
= z; 7N (L)
L=2

BSINIT(S)
RHA(S) = density at zero pressure in region S
Al,A2,A3 = coefficients in Eq. (4.5)
DV(S) = vy(p,T) - v{(p,T)
PM = opressure at which the Hugoniot in phase I intercepts
the phase boundary
cvl = o
CVMIX = v
GAMMI(S) = T
Ef = internal energy at the foot of the Hugoniot

6 = T,

DPDIMX = (3p/3T), .
TAUp = 1/v, Eq. (5.11)
VP = specific volume in phase I at p = PM = v;(pM,T)

V2 = vz(pM,T)

CSPS = starting value for sound speed
J index for space grid

v(J)

u(J)

Q(I)




